DU TUN

IHR TUN

IHR SEIN

DU HABEN
IHR HABEN
ES MOGEN
DU WISSEN
ES NENNEN
DU NEHMEN
IHR MOGEN
DU BRENNEN
SIE WOLLEN
SIE WISSEN
DU BRINGEN
IHR WOLLEN
SIE RENNEN
SIE SOLLEN
SIE BRENNEN

Das Imperfekt (modal and mixed
verbs)
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ES TUN

ES SEIN

SIE SEIN

ES GEHEN
ES WOLLEN
ES WERDEN
ES KENNEN
ES RENNEN
SIE GEHEN
ES DURFEN
SIE NENNEN
IHR RENNEN
ES BRINGEN
DU KONNEN
IHR WERDEN
IHR KENNEN
IHR MUSSEN
IHR BRENNEN
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SIE TUN

DU SEIN

ES HABEN
SIE HABEN
ES WISSEN
ES NEHMEN
ES SOLLEN
IHR GEHEN
SIE KENNEN
SIE NEHMEN
ES KONNEN
ES MUSSEN
IHR NEHMEN
SIE WERDEN
ES BRENNEN
IHR SOLLEN
IHR KONNEN
SIE DURFEN
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SIE MUSSEN
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